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b) rr=ar+bxt+tcx=—2.83+5+3=5.2m:
ry =ay +by +¢;, =~ 2.8+0+5.2=2.4m
(C) r = r=* +ry? e 5. 22+2742 =5.7m

tan@-—gg"()flﬁls  6'=24.6°N of E

d d=-r X/HERKFEHE .
d=5.7 0 =24.6°S of W

143y FHEE—mBAARIK/NRE6.5 8y, BIE x MR +125°, K5 &Ko
B A:=6.5c0s(125°) = — 3. 7!62

Ay = 6.5 sin(125°) = 5.3 B {¥
W kMU RdZzRr , G=BEFAZSREB (KM )
cx = 5.0 C-":O’ c. = —2.0; dr:"B-o, dy :4-0, a4 = 6.0
B r=c+d cx=5H, ¢y=0, cs=—2 '

d:=3, dy = 4, d: =6 ;
rs=cx+dx=5-3=2 mi 'r,~Cy+ds—0+4 4m1
r.=ce +d. =—2 +6=4mi r=2|+41+4k
16(3). “f & afih A/MES , B8 10 B , A M
L -13FTR , MENAr R rWx My SR
(b) r B9/ 5 (o) r BT x BEATEKEV A o
M (a) ax=10cos 30°= 8.66 a, =10 sin 30°=5
by = 10 cos ( 105°+30° = 10 cos 136°=— 7.07
b, =10 sin 135 °=7.07 .
. Tx =2 + b, =8.66 —7.07 y
= 1.6 units :
Iy = ay + b, =5+7.07
=12.1 units
M r=yT.7F1,7=y/1.6° FI12.1 a

= 12.2 units 30

12.1
() tan @ =Te = 7.56 # —=82.5° 0

17(3. " @A,B EP®BA:- =232, A, =1.6, B.=0.50, B, =4.5
() kA,BRZxME,
by REFEMAHANDBS BB CZ xfay R,

e 16“1 _ apoaq

B (a) tanaw*g—? ‘2"3" a= 2634
tang- 42 =g g =83%0"
an 05 = -
A--a=5/%" “ABRBZ AR50’



